Figure 1. Area Under the Curve (AUC) estimates for physical activity behavior (Panel 1), intention (Panel 2), duration of behavior pattern
performance (Panel 3), and maintenance indicators (Panel 4) for the different criteria (ROC = Receiver Operator Curves).
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Testing the Validity of Stage Assessment

Figure 2. Area Under the Curve (AUC) estimates for nutrition behavior (Panel 1), intention (Panel 2), duration of behavior pattern
performance (Panel 3), and maintenance indicators (Panel 4) for the different criteria (ROC = Receiver Operator Curves).
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